Dr. Shirley's Greek Courses
Grammar

The Imperfect Indicative Active of the Regular Verb

The Imperfect is used for continuous or repeated action in the past
Eg "lwasgoing.." "lusedtogo..."

1. The Imperfect is formed by adding €é— directly in front of the Verb Stem,
and the various personal endings to the end of the Stem
The initial €— is called "the Augment".

singular
| — oV ,E)\EYOV I was saying
you/thou —¢g é)\syss you were saying
he/she/it — ¢ev é)\syev he was saying
plural
we — OEV EAEYOUEV we were saying
you — ETE é)\EYSTE you were saying
they — oV é}\syov they were saying

2. Contract Verbs follow the same rules of contraction as for the Present Tense :

TIHXw I honor TMOlEw I do, make Poavepow I show, make manifest
ETIMCOV £TOI0UV EdovEPOUY

b b b

ETIHOS ETTOIELS epavepous

b b b

ETIHO ETTOIEI epavepou

ETILCOUEY £ TOIOUNEV £dOVEPOUNEY

ETIMOTE ETTOIEITE ebavepouTe

) ) )

ETIMWV £TTOI0UV epavepouv

3. If the Stem begins with a vowel, the Augment combines with the vowel :

E+a=n E+al=n £+ au="u
E+e=T E+el=T E+EU=TV or su
E+to=w E+ol=o E+1 =1

C

eg. myoma — he was loving

4. Compound Verbs are made by attaching a preposition to the front of the Verb Stem.
In the case of Compound Verbs, the Augment goes between the preposition and the main stem

eg. &k + PBalw gives ekBorc Imperfect :  &EgBaAAov
out + I throw I throw out I was throwing out
g verb-114

Copyright © 1999 Shirley J. Rollinson, all Rights Reserved
http://www.drshirley.org/



